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Question Number : 1 Question Id : 3271674160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The word Audiology is derived from which language?
Options:

1 % French



-~ % German
3 « Latin
4 % Italian

Question Number : 1 Question Id : 3271674160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 2 Question Id : 3271674161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Where is All India Institute of Speech and Hearing (AIISH) located?

Options:
1 # New Delhi

5  Mysore
5 % Hyderabad

4 % Chennai

Question Number : 2 Question Id : 3271674161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 3 Question Id : 3271674162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who is considered as the father of speech and hearing in India?

Options:
1 « Dr.N.Rathna



> % Dr. S.Nikam
= % Dr.Swaminathan
4 % Dr Salim Ali

Question Number : 3 Question Id : 3271674162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 4 Question Id : 3271674163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘What is the full form of BPPV in Audiology?
Options:
, « Benign paroxysmal positional vertigo

- » Benign paroxysmal posterior vertigo

- % Benign posterior paroxysmal vibrations

, % Benign paroxysmal posterior vibrations

Question Number : 4 Question Id : 3271674163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 5 Question Id : 3271674164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following disorders can be diagnosed by a procedure called delayed auditory

feedback?
Options:



1 % Tinnitus
5 % Vertigo

5 % Hyperacusis

4 Pseudo hyperacusis

Question Number : 5 Question Id : 3271674164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 6 Question Id : 3271674165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A child suffering from cleft palate has greater risk of developing which disorder?
Options:

1« Otitis media

- % Otorrhea
= % Tinnitus
4 % Sinusitis

Question Number : 6 Question Id : 3271674165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 7 Question Id : 3271674166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



The race which has greatest predilection for Otosclerosis is:
Options:

, = Mongoloids
> o Caucasians
=z % Dravidian
4 % Aryan race

Question Number : 7 Question Id : 3271674166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 8 Question Id : 3271674167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The most common etiology of hearing loss is:

Options:

1 % Drugs
> % Infection
5 o Heredity
4 % Trauma

Question Number : 8 Question Id : 3271674167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 9 Question Id : 3271674168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Which of the following is the correct range of middle evoked responses?

Options:
1 % 5-10msec

> #% 10 - 50 msec
2 « 30 - 100 msec
4 % >100 msec

Question Number : 9 Question Id : 3271674168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
;1 # 5 -10 msec

> % 10 - 50 msec
2z « 50 - 100 msec

4 % = 100 msec

Question Number : 10 Question Id : 3271674169 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Haemorrhage from the middle ear is known as:

Options:
1 % Rhinorrhea

- % Diarrthoea
= « Otorrhea

4 % Staetorrhea

Question Number : 10 Question Id : 3271674169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 11 Question Id : 3271674170 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Focal death of tissues is known as:
Options:



1 % Fibrosis
> # Cirrthosis
2 « Necrosis
4 % Sclerosis

Question Number : 11 Question Id : 3271674170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 12 Question Id : 3271674171 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is not a genetic disorder?

Options:
1 « Enteric fever

> % Sickle cell anaemia

- % Haemophilia

4, % Cleft palate

Question Number : 12 Question Id : 3271674171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 13 Question Id : 3271674172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Widal test is used in the diagnosis of:

Options:



, w» Hay fever
-~ % Dengue fever

= % Medaitterenian fever

4 + Enteric fever

Question Number : 13 Question Id : 3271674172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 14 Question Id : 3271674173 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following cells are depleted in Dengue fever?
Options:

, % RBC

- « Platlets

= % WBC

4 % Lymphocytes

Question Number : 14 Question Id : 3271674173 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
o 7 ¥ Fia d@ FIFT S5 g9R A F7 @ A 82
Options:

. % RBC
, » ToIHeH

S

= % WBC
8 ESp=sape) rre)

Question Number : 15 Question Id : 3271674174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
HIV virus targets which cells in the human body?

Options:



L ® B lymphocytes
- T lymphocytes
5 w Erythrocytes

4 % Macrophages

Question Number : 15 Question Id : 3271674174 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 16 Question Id : 3271674175 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The most common etiology of Pharyngitis is:

Options:
1 ® Virus

- x Fungi

3 « Bacteria

4 % Protozoa

Question Number : 16 Question Id : 3271674175 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 17 Question Id : 3271674176 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is the confirmation test for HI'V?

Options:



; # ELISA
> % Southern blot
= « Western blot
4 % Northern blot

Question Number : 17 Question Id : 3271674176 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

e & 7 HIV & gt & e sl @1 qferor BRar smar 22

Options:

. % ELISA
. « WA edle
. » IR e
4 % 3cadl =ae

Question Number : 18 Question Id : 3271674177 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The lab test done for detecting glucose in the urine is:

Options:
1 + Benedict’s test

- % Schiller’s test
=z % Bell’s test
4 % Widal test

Question Number : 18 Question Id : 3271674177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
AT H TEHIA F TdT T 3+ A0 gARTIST # Hia @ gderer GFar Jrar g2

Options:

| v SATSEFE glratoT
5> # TEIT T IYEToT
5 % &l T TLETOT
4 % TESTE S{rEToT

Question Number : 19 Question Id : 3271674178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Deticiency of 1s Anaemia.
Options:

1 % Glucose



> o Iron
z % Sodium
4 % Potassium

Question Number : 19 Question Id : 3271674178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 20 Question Id : 3271674179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The programmed cell death is known as:
Options:

1 % Necrosis

5 % Gangrene

5  Apoptosis

4 % Fibrosis

Question Number : 20 Question Id : 3271674179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
FARTET (JreFs) FIRE Feg F AF T =N FET 2

Options:

| % FRITAH
o % AT

L v ¥EOARE
4 » RN

Question Number : 21 Question Id : 3271674180 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Which of the following is a disorder characterized by difficulty in producing speech?
Options:

1 % Amnesia



o o Aphasia
- # Agnosia

4 % Phantogeusia

Question Number : 21 Question Id : 3271674180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 22 Question Id : 3271674181 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is a disorder characterized by producing incoherent and jumbled
speech?

Options:

, « Fluent aphasia

-~ % Anomic aphasia
- % Non fluent aphasia

4, % Disruptive aphasia

Question Number : 22 Question Id : 3271674181 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 23 Question Id : 3271674182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following areas in the brain is responsible for word formation?

Options:



1 # Wernicke’s area
> « Broca’s area

= % Area 19

4 % Arvead4

Question Number : 23 Question Id : 3271674182 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

Question Number : 24 Question Id : 3271674183 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Wernicke’s area in the human brain is responsible for:
Options:

1 #% Word formation

- % Written language

5  Word repetition

4 % Memory

Question Number : 24 Question Id : 3271674183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 25 Question Id : 3271674184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following is a disorder characterized by disruption and inability to speak
words?
Options:



, « Broca’s aphasia

- % Wernick’s aphasia

5 % Disruptive aphasia

4, % Fluent aphasia

Question Number : 25 Question Id : 3271674184 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 26 Question Id : 3271674185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A child characterized by parrot like. repetitive speech is most likely to be suffering from:
Options:

1% Down'’s syndrome

- u Cerebral palsy

5  Autism

, % Edward’s syndrome

Question Number : 26 Question Id : 3271674185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

Question Number : 27 Question Id : 3271674186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



A person has inability to identify the objects and name them. He is most likely to be
suffering from:

Options:

, » Aphasia
o o Agnosia
%z % Amnesia

, % Phantogeusia

Question Number : 27 Question Id : 3271674186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 28 Question Id : 3271674187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following test is most comunonly used for executive functioning?

Options:
| v Wisconsin’s card sorting test
- % Minnesota test

5 % Aunt Minnie sorting test

, % Chisquare test

Question Number : 28 Question Id : 3271674187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 29 Question Id : 3271674188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Pre-frontal cortex of the brain is associated with:
Options:

1 % Balance

-~ % Speech
- % Memory

4 « Planning & Decision making

Question Number : 29 Question Id : 3271674188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AIETSF F &-90E Taen FaF @y gefg 87

Options:

z = WQH
4 v T 3R A e

Question Number : 30 Question Id : 3271674189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The disorder characterized by slowly progressive dementia. aphasia and apraxia is:
Options:

1« PicK’s disease

- % Pink’s disease
3 % Parkinsonism

4 % Alzheimer’s disease

Question Number : 30 Question Id : 3271674189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 31 Question Id : 3271674190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who proposed the Cognitive theory of child psychology?
Options:

1 % Addle son

- % Socrates

-  Jean Piaget

4 % Bandura

Question Number : 31 Question Id : 3271674190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 32 Question Id : 3271674191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who proposed the classical conditioning theory?

Options:

, w» Piaget

- % Bandura
= % Skinner
4 « Pavlov

Question Number : 32 Question Id : 3271674191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 33 Question Id : 3271674192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who proposed Operant conditioning theory?

Options:
1 #% Pavlov

> « Skinner
=z % Bandura
4 % Piaget

Question Number : 33 Question Id : 3271674192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 34 Question Id : 3271674193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The diminished emotional responsiveness to a negative stimulus on repeated exposure is
known as:

Options:

1 % Sensitization

5 ® Hypnotization
= « Desensitization
4 % Adaptation

Question Number : 34 Question Id : 3271674193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 35 Question Id : 3271674194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The motor skills are mostly acquired as a result of:
Options:

|  Leaming
> % Maturation
5 % Experience

, w Heredity

Question Number : 35 Question Id : 3271674194 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 36 Question Id : 3271674195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In Cognitive theory. the first two years of life are called:
Options:

, = Motor stages

> % Sensory stages

5  Sensorimotor stages
, % Learning stages

Question Number : 36 Question Id : 3271674195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 37 Question Id : 3271674196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

All of the following symptoms are seen in depression except:
Options:

, w Lethargy

> « Delusions
3 % Anorexia

4 % Insommnia

Question Number : 37 Question Id : 3271674196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 38 Question Id : 3271674197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Intelligence is mostly associated with:

Options:
1w Leamning

- % Reading
5 #& Speech

4 % Maturation

Question Number : 38 Question Id : 3271674197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Options:

- B qﬁﬁ



5 EITEIT'Q'
4 & ':Iﬁ'qul}l

Question Number : 39 Question Id : 3271674198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The type of hallucinations seen in a patient with Schizophremia is

Options:
1 % Visual
- % Olfactory

-  Auditory

4 % Tactile

Question Number : 39 Question Id : 3271674198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 40 Question Id : 3271674199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is comumonly seen in people with mood disorders?
Options:

1w Manic depression

- % Euphoria
5 % Depression

4 % Mania

Question Number : 40 Question Id : 3271674199 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 41 Question Id : 3271674200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The branch of science which deals with the sound and vibration is known as:
Options:

L ® Optics

> « Acoustics
3 % Genetics

4 = Physics

Question Number : 41 Question Id : 3271674200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 42 Question Id : 3271674201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Any unwanted sound that interferes with what you want to hear is known as:

Options:
1 % Vibration
- % Reverberation

-  Background noise

4 % Pollution

Question Number : 42 Question Id : 3271674201 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 43 Question Id : 3271674202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The phenomenon in which the sound continues in the room because of its reflection is
known as:

Options:

1 « Reverberation

> % Vibration
z % Echo

, % Background noise

Question Number : 43 Question Id : 3271674202 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 44 Question Id : 3271674203 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following part of the ear sends electric impulses to the auditory nerve during
hearing process?

Options:

1 % Cochlea

> « Hair cells

5 % Tympanum

4 % Stapes

Question Number : 44 Question Id : 3271674203 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



FIT T e AT ST Gefel T THAT & SN HF0T AT 1 faTelr o HaT
=TT 22

Options:

1_%&@3‘@1”
o v B T
. SHYAH

3. -

4_&@

Question Number : 45 Question Id : 3271674204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Auditory or phonologic awareness training is given for:
Options:

1 % Otorrhea

> % Tinnitus

-  Auditory processing disorder

4 ® vertigo

Question Number : 45 Question Id : 3271674204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 46 Question Id : 3271674205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The degree and configuration of hearing loss can be best evaluated by:

Options:
1. % Self-test

» % Case history

-  Audio logic hearing evaluation
4 % Xray

Question Number : 46 Question Id : 3271674205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
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Question Number : 47 Question Id : 3271674206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The normal value of fundamental speech frequency in men is:

Options:
1« 100

> % 200
5 % 300
4 % 500

Question Number : 47 Question Id : 3271674206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 48 Question Id : 3271674207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The value of fundamental speech frequency in a crying child is:

Options:
; % 100

> % 200
5 % 300
4 « 500

Question Number : 48 Question Id : 3271674207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 49 Question Id : 3271674208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following are sibilant sounds?

Options:
1« S.2Z,8h

= % €,z th
= ® S. ._E' Sh
4 % Th,sh

Question Number : 49 Question Id : 3271674208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 50 Question Id : 3271674209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The speech constraint in which the words in a sentence are related meaningfully is:

Options:
1 « Semantic

- % Situational
= % Intentional
4 % Meaningful

Question Number : 50 Question Id : 3271674209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 51 Question Id : 3271674210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The linguistic sounds are those which are:

Options:
1 % Pronounced while inhalation

- % Pronounced while exhalation

-  Morphological unit of language

, = Have a paralinguistic function

Question Number : 51 Question Id : 3271674210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 52 Question Id : 3271674211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The branch of linguistics that deals with sounds of human speech is known as:

Options:
1 « Phonetics

> % Linguistics
5 » Audiology

4 % Phonology



Question Number : 52 Question Id : 3271674211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 53 Question Id : 3271674212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The branch of linguistics that deals with the grammatical characterization of sound is:
Options:

1 % Phonetics

- % Phonology
5 w Audiology

4  Audiometry

Question Number : 53 Question Id : 3271674212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 54 Question Id : 3271674213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The study of production of speech sounds by the articulatory and vocal tract by the speaker
is known as:

Options:

, % Acoustic phonetics

- % Auditory phonetics

5  Atticulatory phonetics



, % Linguistic phonetics

Question Number : 54 Question Id : 3271674213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 55 Question Id : 3271674214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The study of physical transmission of the speech sounds from the speaker to the listener is
known as:

Options:

. + Acoustic phonetics

> % Auditory phonetics
5 ® Articulatory phonetics

, % Linguistic phonetics

Question Number : 55 Question Id : 3271674214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 56 Question Id : 3271674215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The study of reception and perception of speech sounds by the listener is known as:

Options:



, % Acoustic phonetics

-  Auditory phonetics

5 % Articulatory phonetics

, % Linguistic phonetics

Question Number : 56 Question Id : 3271674215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 57 Question Id : 3271674216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The system for transcribing sounds that occur in language. whether oral or sign is known
as:

Options:

, « Phonetic transcription

> % Phonetic translation
= % Phonetic transformation
4 % Phonetic transfer

Question Number : 57 Question Id : 3271674216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 58 Question Id : 3271674217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
Where is the Indian institute of Linguistics located?

Options:

1 & New Delhi
5 of Mysore

3 % Chennai

4 % Kolkata

Question Number : 58 Question Id : 3271674217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 59 Question Id : 3271674218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In phonetics, the study of internal structure of words is known as:

Options:
| = Anatomy

> % Psychology

-  Morphology
, % Physiology

Question Number : 59 Question Id : 3271674218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 60 Question Id : 3271674219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
The study of language structure and phrasal hierarchy is known as:

Options:
| % Syntax

> « Semantics

- % Morphology

4 % Phonology

Question Number : 60 Question Id : 3271674219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 61 Question Id : 3271674220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The difficulty in swallowing is known as:
Options:

1 % Dyspnoea

-  Dysphagia

5 % Hyoxia

, = Deglutition

Question Number : 61 Question Id : 3271674220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 62 Question Id : 3271674221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The process of swallowing food bolus is known as:

Options:
1 % Mastication
- % Micturition

-  Deglutition

4 = Dysphagia

Question Number : 62 Question Id : 3271674221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 63 Question Id : 3271674222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following disorders is not associated with speech and language pathology?

Options:
1 % Stroke

- % Cerebral palsy
- u Cleft palate

4 « Tuberculosis

Question Number : 63 Question Id : 3271674222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 64 Question Id : 3271674223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following disorders is characterized by Cardiac anomalies. Cleft palate.

thymic aplasia. and abnormal facies and has got increased risk of Schizophrenia?
Options:
L ® Down'’s syndrome

o o Di1George’s syndrome
z & AIDS

, % Blooms syndrome

Question Number : 64 Question Id : 3271674223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

Question Number : 65 Question Id : 3271674224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following device is inserted into the ear drum of a patient with cleft lip and
palate for speech and hearing therapy?

Options:
, w Tracheostomy tube

> w Rylestube

-  Tympanostomy tube

4 % Audiometer

Question Number : 65 Question Id : 3271674224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 66 Question Id : 3271674225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The speech problems which result directly from anatomical differences are known as:

Options:
, w Acute speech insufficiency

> % Oropharyngeal insufficiency
5 » Vvelonasal deficiency

4  velopharyngeal inadequacy

Question Number : 66 Question Id : 3271674225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

dielel gaefl THEAT 3 9c80e7 &9 ¥ i fAfeesar & afiomg g &, 3¢
fFT a7 T AT F 4T 872

Options:

| » THFIE T SHATERRACH
o« HRIGI SR TTHr
o % AT HAT

4 v TIPS IATCIAT

Question Number : 67 Question Id : 3271674226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following disorders is most likely to be associated with hearing impairment?

Options:
L ® Down’s syndrome

- » Hypertrichosis
5  Cleft palate

, % Blooms syndrome

Question Number : 67 Question Id : 3271674226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 68 Question Id : 3271674227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

WIII cranial nerve is also called as:
Options:

, = Olfactory nerve

> « Vestibulo cochlear nerve

= % Trochlear nerve

, % Irigeminal nerve

Question Number : 68 Question Id : 3271674227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 69 Question Id : 3271674228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A 5 year old child, characterized by speech problems associated with poor respiratory
control. velopharyngeal inadequacy, restricted movement of muscles in the orofacial
region is most likely to be suffering from:
Options:
1 % Stroke
- % Cerebellar tumour
5 Cerebral palsy

4 % Autism

Question Number : 69 Question Id : 3271674228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 70 Question Id : 3271674229 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A 6 year old child suffering from a neurodevelopmental disorder characterized by
impaired communication. social interaction. repetitive and restricted behaviour is most
likely to be suffering from:

Options:

, w Cerebral palsy
> % Afavism

3 Autism

4 % Stroke

Question Number : 70 Question Id : 3271674229 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 71 Question Id : 3271674230 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

X-rays were first discovered by:
Options:

1 % Rutherford



5 % Ramsay
5 Roentgen

4 % Louis Pasteur

Question Number : 71 Question Id : 3271674230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 72 Question Id : 3271674231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is an example of electromagnetic radiation?

Options:

1 ¥ X rays

- % Alpharays
- % Detarays

4 % Gamma rays

Question Number : 72 Question Id : 3271674231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 73 Question Id : 3271674232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is the fixing agent in processing an X-ray film?
Options:

1 % Sodium chloride



> % Sodium hydroxide

5  HYPO

4 % Potash alum

Question Number : 73 Question Id : 3271674232 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 74 Question Id : 3271674233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The processing of X ray films should be done in the:

Options:
, = Sunlight
> « Darkroom

5 % Openair

4 w Anywhere

Question Number : 74 Question Id : 3271674233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 75 Question Id : 3271674234 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is not an example of particulate radiation?

Options:



1 ¥ X rays

- % Alpharays

- % Detarays

4 % Gamma rays

Question Number : 75 Question Id : 3271674234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 76 Question Id : 3271674235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The scientist who discovered the radioactivity for the first tune is:

Options:
1 ® Curie

- u Flemming

5  Becquerel

4 % Fermi

Question Number : 76 Question Id : 3271674235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 77 Question Id : 3271674236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The S.I unit of absorbed dose in radiology is:

Options:



1 % Sievert
~> % Rad

= % Rem

4  Oray

Question Number : 77 Question Id : 3271674236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 78 Question Id : 3271674237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The radiation which has got highest frequency is:
Options:

1w Gamma rays

5 % Beta rays

- % Alpha rays

4 % Xrays
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Question Number : 79 Question Id : 3271674238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A single unit of electromagnetic radiation is called as:

Options:



1 % Particle
> « Photon
= % Proton

4 % Neutron

Question Number : 79 Question Id : 3271674238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 80 Question Id : 3271674239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The most sensitive part of the cell to radiation is:

Options:

1 # RNA

5 « DNA

= # Ribosomes
4 % Mitochondria

Question Number : 80 Question Id : 3271674239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 81 Question Id : 3271674240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In clinical studies. the group which does not undergo the treatment is known as:
Options:

1% Cohort group



> % Experimental group
-  Control group

4 % Healthy group

Question Number : 81 Question Id : 3271674240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 82 Question Id : 3271674241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Breathing and digestion is controlled by which part of the nervous system?

Options:

, % Central nervous system

- #® Axons
= % Motor units
4  AUtonoimic nervous system

Question Number : 82 Question Id : 3271674241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



The psychological theory which states that. learning can be best achieved by the
underlying thought process, 1s:

Options:

, w Social learning theory

> % Developmental theory

-  Cognitive theory

4 % Psycho social theory

Question Number : 83 Question Id : 3271674242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 84 Question Id : 3271674243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Psycho social theory was propagated by:

Options:
1 « Erik Erikson
5 ® Sigmund Freud

- w Piaget

4 % Skinner
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Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 85 Question Id : 3271674244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The psycho sexual theory was given by:
Options:

, + Sigmund Freud

- % Erik Erikson

= % Skinner

4 = FPiaget

Question Number : 85 Question Id : 3271674244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 86 Question Id : 3271674245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following is not an opioid analgesic?
Options:
, % Morphine

> % Pethidine

5 » Fentanyl

,  Pantoprazole

Question Number : 86 Question Id : 3271674245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 87 Question Id : 3271674246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following drug is indicated in the treatment of alcohol dependence?

Options:
1 % Cocaine

5 ® Lignocame
5  Diazepam

4 % Paracetomol

Question Number : 87 Question Id : 3271674246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 88 Question Id : 3271674247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Cognitive dissonance theory was proposed by:
Options:

, w Jean Piaget

o o Festinger

=z % Bandura
4 % Freud

Question Number : 88 Question Id : 3271674247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 89 Question Id : 3271674248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Social learning theory states that a person can be socialized by:

Options:
1 « Observation

- % Maturation

5 % Learning

4 % Punishment

Question Number : 89 Question Id : 3271674248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 90 Question Id : 3271674249 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Maintenance of a constant internal equilibrium status inside the body is known as:

Options:
1 % Haemostasis

> « Homeostasis
= % Venous stasis
, % Epistaxis
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Question Number : 91 Question Id : 3271674250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which part of the personality provides a buffer between ID and the outside world?
Options:

1, w80
5 % Superego
2 ® Super ID

4 % 1D
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
afFaca # Hia @ BEar ID 3 aed gfaar & 9 v a9 Tae A 22

Options:

1.~a:a-""3'13#IT

., » HEEFR
TR ID

3 -

4 ® ID

Question Number : 92 Question Id : 3271674251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The meaningless. speech like sounds that appear in a child between 3 months to one
year. are known as:

Options:
1 « Babble

5 % Syntax

= % Semantic
4 % Syllabi

Question Number : 92 Question Id : 3271674251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 93 Question Id : 3271674252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The chief neurotransmitter of the cholinergic nervous system is:

Options:
1 % Adrenaline

- % Nor adrenaline
5 ® Epinephrine
4 ¥ Acetylcholine

Question Number : 93 Question Id : 3271674252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 94 Question Id : 3271674253 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The chief neurotransmitter of adrenergic nervous system is:

Options:
1 « Nor adrenaline

- % Acetylcholine
- % Epinephrine

4 % Serotonin

Question Number : 94 Question Id : 3271674253 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 95 Question Id : 3271674254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In Cognitive theory of child development. the major accomplishment of the sensorimotor
stage is:
Options:
1 Egocentrism

- u Abstract thinking
=z % Centration

4 % Super ego

Question Number : 95 Question Id : 3271674254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 96 Question Id : 3271674255 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The treatment procedure. systematic desensitization. is done for:

Options:
1 +« Phobias

> % Mania
= % Addiction
4 % Depression
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Question Number : 97 Question Id : 3271674256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The most common and important criterion used to assess the mental development and
retardation 1s:

Options:
1 % Behaviour

> % Communication

5 % Social competence

4 v IR
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Question Number : 98 Question Id : 3271674257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Peer Sroup pressure 15 most cmmnmll}' seen in:

Options:
1 % Toddler
- % School going kids

5  leenage

4 % Adults
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Question Number : 99 Question Id : 3271674258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The most common feature seen in alcohol withdrawal is:
Options:

1 « Tremors

- % Selzures
3 % Insomnia
4 % Convulsions

Question Number : 99 Question Id : 3271674258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 100 Question Id : 3271674259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The best treatment for convulsions / seizures is:
Options:

1 % LV Glucose

-  LV.Diazepam
z % LV fluids
4 % LV Insulin
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Question Number : 101 Question Id : 3271674260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Reserve Bank of India (RBI) was formerly called as:

Options:
1 % National Bank Of India

- % Union Bank Of India
5 « Central Bank Of India

, % Imperial Bank Of India

Question Number : 101 Question Id : 3271674260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 102 Question Id : 3271674261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Normally B.C.G. vaccine is used for:

Options:

1 % Rabies

> « Tuberculosis
= % Cancer

4 % Polio

Question Number : 102 Question Id : 3271674261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 103 Question Id : 3271674262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
For producing sound. a CD audio player uses:

Options:
, % Quartz Crystal
- « Laser Beam

- % [litanium Crystal

4 % Barium Titanium Ceramic

Question Number : 103 Question Id : 3271674262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 104 Question Id : 3271674263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Manav Seva Award has been instituted in the memory of:

Options:

,  Rajiv Gandhi
- % Dr.Rajendra Prasad
z % Indira Gandhi

4 % Jawaharlal Nehru

Question Number : 104 Question Id : 3271674263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 105 Question Id : 3271674264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Aryabhata — The first Indian satellite was launched from:

Options:
;i Palamor (U.K.)

> % Cape Kennedy (U.S.A)
5 % Sriharikotta (India)
, w BearsLake (U.S.S.R)

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.
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, » 338 3F (USSR)

Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 106 Question Id : 3271674265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The capital of Puducherry is:

Options:
1 % Karaikal
> % Mahie

5  Puducherry

4 % Yanam

Question Number : 106 Question Id : 3271674265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 107 Question Id : 3271674266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which one of the following is not matched correctly?

Options:
1 ® PTMINNXTPOA = PTMNNXTPOA

- % 5678766817 = 5678766817
3z o CAG682XP190=CA682X9190
4 % T68X176891 =768X176891

Question Number : 107 Question Id : 3271674266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

1 # PTMNNXTPOA = PTMNNXTPOA
> % 5678766817 = 5678766817
= v CAB82XP190 = CAB82X9180



4 % 768X176891 = 768X176891

Question Number : 108 Question Id : 3271674267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

1/2 of 4/7 of 5/7 of number is 50. What is the number?

Options:

1 ® 254

> o 245

= % 300

4 % 250

Question Number : 108 Question Id : 3271674267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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| % 254
. ¢ 245
5 = 300
. % 250

Question Number : 109 Question Id : 3271674268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

On 10T February 1995 it was Friday. The day of the week on 1ot February 1994 was:
Options:
, = Saturday

> % Sunday
-  Thursday
, w Friday

Question Number : 109 Question Id : 3271674268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 110 Question Id : 3271674269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Arrange the following in meaningful order.

1. BOOK II.PAPER III. PEN IV.LIBRARY V. AUTHOR
Options:
| v VILILLIV

o, % IV, V. IIL I, I
;% ILLILV.IV
4% VILILLIV

Note: For this question, discrepancy isfound in question/answer . Full Marksis being awarded to all candidates.
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Correct : 1 Wrong: 0.25
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Note: For this question, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.
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Correct: 1 Wrong: 0.25
Find the odd one out:
Options:

1 *® ﬂll(t

= b4 If

3 « NOw

4 % BY
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Question Number : 112 Question Id : 3271674271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Insert the missing number:

L =l
h
\
h Lo z:
B

125

Options:
1.« 49

ST ] 25
g ® &7

Question Number : 112 Question Id : 3271674271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

1. v 49
> # 64
z % 25
4 % 27
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Complete the series with suitable number:
7297, 512Y, 343X, 216W,

Options:
; % 136R

> % 182T
5 125V
4 % 64P

Question Number : 113 Question Id : 3271674272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
39ged HEAT & WY Wl H I FHI:
7292, 512Y, 343X, 216W, ?

Options:

. % 136R
. % 182T
3 ¢ 125V
. % B4P

Question Number : 114 Question Id : 3271674273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Calculate the average of the cubes of first seven natural numbers.

Options:
1 % 121

5 % 122
5 = 120
i w112
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Two numbers are in the ratio of 3 : 4. If 5 is added to both the numbers. the ratio
becomes 4 : 5. Find the greater number.

Options:
1 & 20
- % 10
z % 15
4 ® 25
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ar EAIT 3 4 & IFg9d H ¢ IfE g et A 5 sE faar =,
ar g HAT 4 1 5 g ST g1 A W g8 HEAT AT |

Options:

1 v 20
- & 10
z % 15
4 % 25

Question Number : 116 Question Id : 3271674275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The present age of father is three times the sum of the ages of his two daughters. After 5
years hence, his age will be double the sum of their ages. The present age of the father is:
Options:

| ® 4 years

5 % 35 years

5 o 45 years

4 % 53 years

Question Number : 116 Question Id : 3271674275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

v TraT T TIAT Y IH af SfeAt F 37 F AT i [ F) 3T 5 A
aTg 3HAT H1g afeAT F HY F S H S @ Fwen| Far F aomw= A
N -

Options:

, % 54 I§
. » 35 T
5 v 45 ¥



4 % 53 ¥

Question Number : 117 Question Id : 3271674276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The equivalent discount to consecutive discounts of 15% and 20% will be:

Options:
1 % 35%

5 % 36%
5 o 32%
4 % 30%

Question Number : 117 Question 1d : 3271674276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
15% 3R 20% & SR Tel & sraT BT g |

Options:
, % 35%
> % 36%
2 ¢ 32%
4 % 30%

Question Number : 118 Question Id : 3271674277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Rajesh invested an amount of Rs 12050 at simple interest. He got an amount of Rs 13496
at the end of 2 years. At what rate of interest did he invest?
Options:
. % 6.5% per annum
5 of 6% per annum
5 % 8% per annumn
4 % 8.5% per annum

Question Number : 118 Question Id : 3271674277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T o § 12050 Fr fer Gramor a7 9T @Fer $r) 2 It F 9297 39
F 13496 Fr Tl e 387 °FE =31 &7 g7 9 I8 =9 &ar ar?

Options:

. % 6.5% 9f¥ v
5 « 6% 9fy a¥



Tz W 89-":)?%3&
4 % 85% 9fg I¥

Question Number : 119 Question Id : 3271674278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In a hostel having 60 students. an addition of 5 members increases the gross
monthly expenditure by Rs 45 but diminishes the average cost per head by Rs 5.
What did the total monthly expenses (in Rs) originally amount to?

Options:
1 % 4500

>« 4440
2 % 4700
4 ® 4044

Question Number : 119 Question Id : 3271674278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

60 OTH & TH geee H, 5 HEHAT & 34 § Afds T A & 45 &1
gfg & o g, AfFa suw ® 5 i twa 9fy =feT s99 o achr &
YR H Fo AfdS T (F H) foragar ar?

Options:

. % 4500
- & 4440
2 = 4700
., = 4044

Question Number : 120 Question Id : 3271674279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

If A is the brother of X; B 1s X’s brother and A is brother of Y. then which of the
following statements is definitely true?

Options:

1 % Xis B’s brother

> % X158 Y’s brother

o

= « Ais B’s brother
4 % Y is A's brother

Question Number : 120 Question Id : 3271674279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



TEAXFASTE B XFTAEgIRA YFIg g T R=ATRT
Fua AT T T HcT T FgT?

Options:

 x X, BF AT E
& X YFASE
.o ABFTE
L VAT AR E

Question Number : 121 Question Id : 3271674280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If ACTION is coded as ZXGRLM, then how will you write ‘BOOKING’?

Options:
; % YLLRPMT

> % YRLLPMT
5 « YLLPRMT
4 % YPLLRMT

Question Number : 121 Question Id : 3271674280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

afe ACTION & F1E ZXGRLM g ar ‘BOOKING' &I 39 FFF e ¥ fo@e?
Options:

. % YLLRPMT
- # YRLLPMT
= v YLLPRMT
4 # YPLLRMT

Question Number : 122 Question Id : 3271674281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

P.Q.R. S and T are sitting on a bench i a park. P is sitting next to Q. R is sifting next to S,
S is not sitting with T who is on the left end of the bench. R 1s on the second position from
the right. P is on the right of Q and T. P and R are sitting together. In which position 1s P
sitting?

Options:

1 % betweenRand T

5 w betweenQand S

5  between Q and R

4 % betweenT and S



Question Number : 122 Question Id : 3271674281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

PQR SN THFIF AT FITTRWIHREI P, QFTWIAITE R, S
FET AT S, THFay A dargA FaaFav@rframw e R
T T A RITLIP, QAR TF g s Iz g PR Ruyr A
43 &1 P g we 9T a3 @7

Options:

 « RARTF =T A
. x QIR SFdT A
v QAT RFIT A
e TR SFdma

Question Number : 123 Question 1d : 3271674282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Origami : Paper : : Ikebana : ?
Options:

1 « Flower

> % Thermacoal

= % Glass

4 % Paper

Question Number : 123 Question Id : 3271674282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT @ FIETST ; ShaTaT - ?
Options:

Lo ™

glﬁam

o ® T
4 % TR

Question Number : 124 Question Id : 3271674283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Mithran earns more than Sharma and less than Dinesh. Vishnu earns more than Mithran
and Dinesh. Sibi earns more than only Sharma. Who earns the least among the five?
Options:

1 % Vishnu



> « Sharma
= % Mithran
4 ® Sibi

Question Number : 124 Question Id : 3271674283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

=, o @ 30 A oo @ #7 Faar 71 ey, e ik e @
TR FATAT g1 ST Faer oOFA ¥ HTSF FAET &1 5 9= H qEH FA FiA

FHTAT &7
Options:

IERY

1w =

o v UAT
=z ® m
4 ® W

Question Number : 125 Question Id ;: 3271674284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
How many times in a day do the minute and hour hands of a clock point in the same

direction?
Options:

1 & 32

= o 22
T W 24

g *® 44

Question Number : 125 Question 1d : 3271674284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
s 6T A, u%ﬂﬁ#ﬁﬂ?ﬁﬁﬁﬂ%ﬁﬁﬁ%&ﬂﬁmm@?ﬁ?

Options:

;] & 32
> of 22
= % 24
4 % 44




